Relations Inverses (J)

10x1=10
 x10=10
10+ 1=
10+

|

Il
[E—

10 x 5 =50
~ x10=50
50+5=_
50 +

10 x 9 =90
9x =90
_ +9=10
90+ 10=_

3x10=30
10x =30
30 =3
30- =10

7 %10 =70
 x7=70
+10=7
+7=10

Remplissez les espaces blancs.

10 x 2 =20
2x =20
20 =10
20+ =2
10 X 6 = 60
6x10=_
60~ =10
60+10=
10 x 10 = 100
_ x10=100
100+~ =10
100+~ =10
4 x 10 = 40
10x4=_
40+ =4
40+ =10
8 x 10 = 80
10x8=_
. +10=8
80+ =10

10 x 3 =30
3x10=_

30- =10
30-10=_

1 x10=10

10x =10
_ +10=1
10+ =10

5x 10 =50
10x___ =50
~10=5

__+5=10

9 x 10 =90
10x9=_
90+10=_

+9=10

10 x 4 = 40
4x =40
40+ =10
. +10=4

10 x 8 = 80
8 x 10 =
80+
80 +

Il
o0 =

2 x 10 =20
. x2=20

__+10=2
20+ =10

6 x 10 = 60

10%x =60
60~ =6
 +6=10

10 x 10 = 100
10x10=__
100+10=_

+10=10

MathsLibres.com




